
A
r
m

a
ç
ã

o
 
p

o
s
i
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
c
o

b
e

r
t
u

r
a

 
(
E

i
x
o

 
X

)

e
s
c
a

l
a

 
1

:
5

0

14.3

13

9

19

14

9

9

8

13.9

15

9

13.7

13

9

L
C

1
L

C
2

L
C

3

L
C

4
L

C
5

L
C

6

L
C

7
L

C
8

L
C

9

L
C

1
0

L
C

1
1

L
C

1
2

L
C

1
3

L
C

1
4

2
 
N

3
5

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

2
0

7
2

 
N

3
6

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

2
5

7

2
 
N

1
4

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
4

1

1
4

 
N

1
5

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
0

3

1
4

 
N

1
6

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
5

8

1
4

 
N

1
7

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
4

0

7
 
N

1
8

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

1
7

9
7

 
N

3
7

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

2
6

0

1
5

 
N

1
9

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
6

6

7
 
N

2
0

 
ø

6
.
3

 
c
/
2

5
 
 
C

t
=

1
8

5

8
 
N

2
1

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
3

5

2
 
N

3
5

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

2
0

7

2
 
N

3
8

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

2
5

8
2

 
N

1
4

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

2
4

1

A
r
m

a
ç
ã

o
 
p

o
s
i
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
c
o

b
e

r
t
u

r
a

 
(
E

i
x
o

 
Y

)

e
s
c
a

l
a

 
1

:
5

0

9
9

9

9

81.2

9

87.4

1
4

9

1
4

79.9

1
4

87.4

1
4

9

1
3

9

9
9

9

L
C

1
L

C
2

L
C

3

L
C

4
L

C
5

L
C

6

L
C

7
L

C
8

L
C

9

L
C

1
0

L
C

1
1

L
C

1
2

L
C

1
3

L
C

1
4

7
 
N

2
2

 
ø

6
.
3

 
c
/
2

5
 
 
C

t
=

4
7

9
 
N

2
3

 
ø

6
.
3

 
c
/
2

5
 
 
C

t
=

5
0

1
2

 
N

2
4

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

4
9

4 N25 ø6.3 c/20  Ct=VAR

5 N26 ø6.3 c/20  Ct=280

12 N27 ø6.3 c/20  Ct=302

12 N28 ø6.3 c/20  Ct=279

4
 
N

2
9

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

V
A

R

5
 
N

3
0

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

1
5

7

1
2

 
N

3
0

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

1
5

7

12 N31 ø6.3 c/20  Ct=314

9
 
N

3
9

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

1
7

9

1
2

 
N

3
2

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

1
7

2

7
 
N

2
2

 
ø

6
.
3

 
c
/
2

5
 
 
C

t
=

4
7

9
 
N

2
2

 
ø

6
.
3

 
c
/
2

5
 
 
C

t
=

4
7

1
2

 
N

2
2

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

4
7

A
r
m

a
ç
ã

o
 
n

e
g

a
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
c
o

b
e

r
t
u

r
a

 
(
E

i
x
o

 
X

)

e
s
c
a

l
a

 
1

:
5

0

165.2

3
9

.
8

165.7

3
9

14

1
5

0

10

1
5

0

197

199

33

L
C

1
L

C
2

L
C

3

L
C

4
L

C
5

L
C

6

L
C

7

L
C

8

L
C

9

L
C

1
0

L
C

1
1

L
C

1
2

L
C

1
3

L
C

1
4

F
e

r
r
o

s
 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

F
e

r
r
o

A
r
m

a
d

u
r
a

 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

N
4

9
9

 
N

1
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

9
5

N
4

0
8

 
N

2
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

7
9

N
4

1
4

 
N

5
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
4

0

N
4

2
6

 
N

6
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
7

7

2
 
N

3
3

 
c
/
2

0

7

6
4

7

2
 
N

3
4

 
c
/
2

0

6
5

7

5
 
N

4
9

 
c
/
2

0

7

1
6

4

7

N
1

4
 
N

4
0

 
c
/
2

0

7

1
6

0

7

N
2

2
 
N

3
 
c
/
2

0

7

3
2

7

2
 
N

4
 
c
/
2

0

7

3
3

7

7
 
N

4
1

 
c
/
2

0

7

8
1

7

N
5

9
 
N

4
2

 
c
/
2

0

7

1
0

9

7

N
6

A
r
m

a
ç
ã

o
 
n

e
g

a
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
c
o

b
e

r
t
u

r
a

 
(
E

i
x
o

 
Y

)

e
s
c
a

l
a

 
1

:
5

0

4
2

6
0

7
4

3
9

3
9

3
9

L
C

1
L

C
2

L
C

3

L
C

4
L

C
5

L
C

6

L
C

7

L
C

8

L
C

9

L
C

1
0

L
C

1
1

L
C

1
2

L
C

1
3

L
C

1
4

F
e

r
r
o

s
 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

F
e

r
r
o

A
r
m

a
d

u
r
a

 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

N
4

1
4

 
N

7
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
9

0

N
4

1
4

 
N

8
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
3

4

N
4

1
4

 
N

9
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
4

4

N
4

3
1

7
 
N

1
0

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
8

7

N
4

4
8

 
N

1
1

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
4

2

N
4

5
1

0
 
N

1
0

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
8

7

N
4

6
8

 
N

1
2

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
4

0

N
4

7
7

 
N

1
3

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
4

7

N
4

8
6

 
N

8
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
3

4

N
4

1
4

 
N

7
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
9

0

9
 
N

4
1

 
c
/
2

0

7

8
1

7

N
7

12 N41 c/20

7

81

7

N8

12 N41 c/20

7

81

7

9 N43 c/20 7

3297
N10

12 N44 c/20

7143

7

N11

9 N45 c/20

7

191

7

N10

12 N46 c/20

7

156

7

N12

12 N47 c/20

7

122

7

N13

1
2

 
N

4
8

 
c
/
2

0

7

110

7

N8

9
 
N

4
1

 
c
/
2

0

7

81

7

N7

R
e
l
a
ç
ã
o
 
d
o
 
a
ç
o

N
e

g
a

t
i
v
o

s
 
X

N
e

g
a

t
i
v
o

s
 
Y

P
o

s
i
t
i
v
o

s
 
X

P
o

s
i
t
i
v
o

s
 
Y

A
Ç

O
N

D
I
A

M
Q

U
N

I
T

(
c
m

)

C
.
T

O
T

A
L

(
c
m

)

C
A

6
0

1
5

.
0

9
9

5
8

5
5

2
5

.
0

8
7

9
6

3
2

3
5

.
0

2
4

4
8

8

4
5

.
0

2
4

5
9

0

5
5

.
0

4
1

4
0

5
6

0

6
5

.
0

6
1

7
7

1
0

6
2

7
5

.
0

8
1

9
0

1
5

2
0

8
5

.
0

1
0

2
3

4
2

3
4

0

9
5

.
0

4
2

4
4

9
7

6

1
0

5
.
0

2
7

1
8

7
5

0
4

9

1
1

5
.
0

8
2

4
2

1
9

3
6

1
2

5
.
0

8
2

4
0

1
9

2
0

1
3

5
.
0

7
2

4
7

1
7

2
9

C
A

5
0

1
4

6
.
3

4
2

4
1

9
6

4

1
5

6
.
3

1
4

2
0

3
2

8
4

2

1
6

6
.
3

1
4

2
5

8
3

6
1

2

1
7

6
.
3

1
4

2
4

0
3

3
6

0

1
8

6
.
3

7
1

7
9

1
2

5
3

1
9

6
.
3

1
5

2
6

6
3

9
9

0

2
0

6
.
3

7
1

8
5

1
2

9
5

2
1

6
.
3

8
2

3
5

1
8

8
0

2
2

6
.
3

3
5

4
7

1
6

4
5

2
3

6
.
3

9
5

0
4

5
0

2
4

6
.
3

1
2

4
9

5
8

8

2
5

6
.
3

4
V

A
R

V
A

R

2
6

6
.
3

5
2

8
0

1
4

0
0

2
7

6
.
3

1
2

3
0

2
3

6
2

4

2
8

6
.
3

1
2

2
7

9
3

3
4

8

2
9

6
.
3

4
V

A
R

V
A

R

3
0

6
.
3

1
7

1
5

7
2

6
6

9

3
1

6
.
3

1
2

3
1

4
3

7
6

8

3
2

6
.
3

1
2

1
7

2
2

0
6

4

3
3

6
.
3

2
7

5
1

5
0

3
4

6
.
3

2
7

6
1

5
2

3
5

8
.
0

4
2

0
7

8
2

8

3
6

8
.
0

2
2

5
7

5
1

4

3
7

8
.
0

7
2

6
0

1
8

2
0

3
8

8
.
0

2
2

5
8

5
1

6

3
9

8
.
0

9
1

7
9

1
6

1
1

4
0

8
.
0

4
1

7
0

6
8

0

4
1

8
.
0

4
9

9
1

4
4

5
9

4
2

8
.
0

9
1

1
9

1
0

7
1

4
3

8
.
0

9
3

3
9

3
0

5
1

4
4

8
.
0

1
2

1
5

3
1

8
3

6

4
5

8
.
0

9
2

0
1

1
8

0
9

4
6

8
.
0

1
2

1
6

6
1

9
9

2

4
7

8
.
0

1
2

1
3

2
1

5
8

4

4
8

8
.
0

1
2

1
2

0
1

4
4

0

4
9

1
0

.
0

5
1

7
3

8
6

5

R
e
s
u
m

o
 
d
o
 
a
ç
o

A
Ç

O
D

I
A

M
C

.
T

O
T

A
L

(
m

)

P
E

S
O

 
+

 
1

0
 
%

(
k
g

)

C
A

5
0

C
A

6
0

6
.
3

8
.
0

1
0

.
0

5
.
0

4
0

7
.
1

2
3

2
.
2

8
.
7

1
8

7
.
6

1
0

9
.
6

1
0

0
.
7

5
.
9

3
1

.
8

P
E

S
O

 
T

O
T

A
L

C
A

5
0

C
A

6
0

2
1

6
.
2

3
1

.
8

V
o

l
.
 
d

e
 
c
o

n
c
r
e

t
o

 
t
o

t
a

l
 
(
C

-
3

0
)
 
=

 
4

.
6

7
 
m

³

Á
r
e

a
 
d

e
 
f
o

r
m

a
 
t
o

t
a

l
 
=

 
3

8
.
8

8
 
m

²

A
r
m

a
ç
ã

o
 
p

o
s
i
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
1

p
a

v
t
o

 
(
E

i
x
o

 
X

)

e
s
c
a

l
a

 
1

:
5

0

23

9

7

9

23

9

10

20

17

22

L
P

1
L

P
2

L
P

3

L
P

4

L
P

5

L
P

6
L

P
7

L
P

8

L
P

9

L
P

1
0

1
5

 
N

1
6

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

1
9

7

1
5

 
N

2
9

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

2
5

5

1
5

 
N

3
0

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

2
4

4

1
1

 
N

1
2

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

1
2

7

1
0

 
N

1
6

 
ø

8
.
0

 
c
/
2

0
 
 
C

t
=

1
9

7

1
0

 
N

3
1

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

2
7

3

1
0

 
N

3
2

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

2
6

4

2
 
N

4
0

 
ø

1
2

.
5

 
c
/
1

4
 
 
C

t
=

1
5

2

4
 
N

3
3

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

6
7

2
 
N

3
4

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

1
4

8

A
r
m

a
ç
ã

o
 
p

o
s
i
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
1

p
a

v
t
o

 
(
E

i
x
o

 
Y

)

e
s
c
a

l
a

 
1

:
5

0

1
3

9

1
3

1
9

1
1

1
3

8

1
7

8

9

L
P

1
L

P
2

L
P

3

L
P

4

L
P

5
L

P
6

L
P

7

L
P

8

L
P

9

L
P

1
0

9 N17 ø8.0 c/20  Ct=299

12 N35 ø10.0 c/20  Ct=321

12 N18 ø8.0 c/20  Ct=325

6 N13 ø6.3 c/20  Ct=229

9 N36 ø10.0 c/20  Ct=219

12 N19 ø8.0 c/20  Ct=230

12 N20 ø8.0 c/20  Ct=225

7
 
N

3
7

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

t
=

5
3

3
 
N

4
1

 
ø

1
2

.
5

 
c
/
2

0
 
 
C

t
=

1
1

0

7
 
N

1
4

 
ø

6
.
3

 
c
/
2

0
 
 
C

t
=

4
5

A
r
m

a
ç
ã

o
 
n

e
g

a
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
1

p
a

v
t
o

 
(
E

i
x
o

 
X

)

e
s
c
a

l
a

 
1

:
5

0

6
2

.
5

7

1
0

2

3
8

.
6

1
4

2

8 N22

103

L
P

1
L

P
2

L
P

3

L
P

4

L
P

5

L
P

6
L

P
7

L
P

8

L
P

9

L
P

1
0

F
e

r
r
o

s
 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

F
e

r
r
o

A
r
m

a
d

u
r
a

 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

N
3

8
4

 
N

1
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
0

2

N
4

2
3

8
 
N

2
 
ø

5
.
0

 
c
/
4

 
 
C

t
=

1
8

N
2

2
4

 
N

3
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

7
5

N
2

2
4

 
N

4
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
5

3

N
4

3
2

2
 
N

5
 
ø

5
.
0

 
c
/
1

1
 
 
C

t
=

2
0

2

6
 
N

3
8

 
c
/
2

0

7

7
0

7

N
1

2
 
N

2
1

 
c
/
2

0

7

6
0

7

4
 
N

4
2

 
c
/
5

7

1
5

2

7

N
2

4
 
N

2
2

 
c
/
2

0

7

8
1

7

N
3

2
 
N

2
3

 
c
/
2

0

7

1
4

5

7

8
 
N

2
2

 
c
/
2

0

7

8
1

7

N
4

1
4

 
N

4
3

 
c
/
1

4

7

2
3

9

7

N
5

A
r
m

a
ç
ã

o
 
n

e
g

a
t
i
v
a

 
d

a
s
 
l
a

j
e

s
 
d

o
 
p

a
v
i
m

e
n

t
o

 
1

p
a

v
t
o

 
(
E

i
x
o

 
Y

)

e
s
c
a

l
a

 
1

:
5

0

1.3

43.7

98
48

5
8

.
3

8

4

17

3
0

6
3

3
3

2
8

L
P

1
L

P
2

L
P

3

L
P

4

L
P

5
L

P
6

L
P

7

L
P

8

L
P

9

L
P

1
0

F
e

r
r
o

s
 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

F
e

r
r
o

A
r
m

a
d

u
r
a

 
d

e
 
d

i
s
t
r
i
b

u
i
ç
ã

o

N
2

4
4

 
N

6
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

4
5

N
2

4
4

 
N

7
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

4
8

N
2

5
6

 
N

8
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
8

5

N
2

6
1

3
 
N

9
 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

2
4

2

N
2

7
7

 
N

1
0

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

6
7

N
2

8
5

 
N

1
1

 
ø

5
.
0

 
c
/
2

0
 
 
C

t
=

1
5

9

3
 
N

2
4

 
c
/
2

0

7

6
7

7

N
6

3
 
N

2
4

 
c
/
2

0 7

6
7

7

N
7

2
 
N

1
5

 
c
/
2

0

7

7
4

7

2
 
N

4
4

 
c
/
2

0

7

5
2

7

1
 
N

3
9

7

5
8

7

9 N25 c/20

7

113

7

N8

12 N26 c/20

7

248

7

N9

3
 
N

2
7

 
c
/
2

0

7

1
2

7

7

N
1

0

8
 
N

2
8

 
c
/
2

0

7

9
0

7

N
1

1

R
e
l
a
ç
ã
o
 
d
o
 
a
ç
o

N
e

g
a

t
i
v
o

s
 
X

N
e

g
a

t
i
v
o

s
 
Y

P
o

s
i
t
i
v
o

s
 
X

P
o

s
i
t
i
v
o

s
 
Y

A
Ç

O
N

D
I
A

M
Q

U
N

I
T

(
c
m

)

C
.
T

O
T

A
L

(
c
m

)

C
A

6
0

1
5

.
0

4
1

0
2

4
0

8

2
5

.
0

3
8

1
8

6
8

4

3
5

.
0

4
7

5
3

0
0

4
5

.
0

4
1

5
3

6
1

2

5
5

.
0

2
2

2
0

2
4

4
4

4

6
5

.
0

4
4

5
1

8
0

7
5

.
0

4
4

8
1

9
2

8
5

.
0

6
1

8
5

1
1

1
0

9
5

.
0

1
3

2
4

2
3

1
4

6

1
0

5
.
0

7
6

7
4

6
9

1
1

5
.
0

5
1

5
9

7
9

5

C
A

5
0

1
2

6
.
3

1
1

1
2

7
1

3
9

7

1
3

6
.
3

6
2

2
9

1
3

7
4

1
4

6
.
3

7
4

5
3

1
5

1
5

6
.
3

2
8

5
1

7
0

1
6

8
.
0

2
5

1
9

7
4

9
2

5

1
7

8
.
0

9
2

9
9

2
6

9
1

1
8

8
.
0

1
2

3
2

5
3

9
0

0

1
9

8
.
0

1
2

2
3

0
2

7
6

0

2
0

8
.
0

1
2

2
2

5
2

7
0

0

2
1

8
.
0

2
7

0
1

4
0

2
2

8
.
0

1
2

9
1

1
0

9
2

2
3

8
.
0

2
1

5
5

3
1

0

2
4

8
.
0

6
7

7
4

6
2

2
5

8
.
0

9
1

2
3

1
1

0
7

2
6

8
.
0

1
2

2
5

8
3

0
9

6

2
7

8
.
0

3
1

3
7

4
1

1

2
8

8
.
0

8
1

0
0

8
0

0

2
9

1
0

.
0

1
5

2
5

5
3

8
2

5

3
0

1
0

.
0

1
5

2
4

4
3

6
6

0

3
1

1
0

.
0

1
0

2
7

3
2

7
3

0

3
2

1
0

.
0

1
0

2
6

4
2

6
4

0

3
3

1
0

.
0

4
6

7
2

6
8

3
4

1
0

.
0

2
1

4
8

2
9

6

3
5

1
0

.
0

1
2

3
2

1
3

8
5

2

3
6

1
0

.
0

9
2

1
9

1
9

7
1

3
7

1
0

.
0

7
5

3
3

7
1

3
8

1
0

.
0

6
7

9
4

7
4

3
9

1
0

.
0

1
6

7
6

7

4
0

1
2

.
5

2
1

5
2

3
0

4

4
1

1
2

.
5

3
1

1
0

3
3

0

4
2

1
2

.
5

4
1

6
0

6
4

0

4
3

1
2

.
5

1
4

2
4

7
3

4
5

8

4
4

1
2

.
5

2
6

0
1

2
0

R
e
s
u
m

o
 
d
o
 
a
ç
o

A
Ç

O
D

I
A

M
C

.
T

O
T

A
L

(
m

)

P
E

S
O

 
+

 
1

0
 
%

(
k
g

)

C
A

5
0

C
A

6
0

6
.
3

8
.
0

1
0

.
0

1
2

.
5

5
.
0

3
2

.
6

2
4

4

2
0

1
.
6

4
8

.
6

1
2

3
.
4

8
.
8

1
0

5
.
9

1
3

6
.
7

5
1

.
4

2
0

.
9

P
E

S
O

 
T

O
T

A
L

C
A

5
0

C
A

6
0

3
0

2
.
7

2
0

.
9

V
o

l
.
 
d

e
 
c
o

n
c
r
e

t
o

 
t
o

t
a

l
 
(
C

-
3

0
)
 
=

 
3

.
8

8
 
m

³

Á
r
e

a
 
d

e
 
f
o

r
m

a
 
t
o

t
a

l
 
=

 
3

2
.
3

3
 
m

²

7

N9

A
 
r
e
p
r
o
d
u
ç
ã
o
 
p
a
r
c
i
a
l
 
o
u
 
i
n
t
e
g
r
a
l
,
 
m

o
d
i
f
i
c
a
ç
õ
e
s
 
n
e
s
t
e
 
p
r
o
j
e
t
o
 
e
 
a
 
s
u
a
 
u
t
i
l
i
z
a
ç
ã
o
 
e
m

 
o
b
r
a
s

d
o
s
 
D

i
r
e
i
t
o
s
 
A

u
t
o
r
a
i
s
 
d
e
 
n
°
 
9
.
6
1
0
/
9
8
.

S
U

P
E

R
I
N

T
E

N
D

E
N

T
E

:

P
R

O
J
E

T
I
S

T
A

:
C

R
E

A
 
N

°

P
R

O
J
E

T
O

L
O

C
A

L

O
B

R
A

A
S

S
U

N
T

O

E
S

C
A

L
A

D
A

T
A

O
B

S
E

R
V

A
Ç

Õ
E

S
:

/0
5

P
R

A
N

C
H

A
 
N

°

M
A

R
Ç

O
/
2

0
1

3

G
U

S
T

A
V

O
 
F

E
R

N
A

N
D

E
S

 
R

O
S

A
D

O
 
C

O
Ê

L
H

O

P
A

U
L

O
 
B

E
Z

E
R

R
A

 
D

E
 
C

A
S

T
R

O

E
S

T
R

U
T

U
R

A
L

 
-
 
C

O
N

C
R

E
T

O
 
A

R
M

A
D

O

2
1

0
2

1
1

6
4

7
-
6

I
N

D
I
C

A
D

A
S

05C
I
C

 
N

°

3
6

5
.
8

7
3

.
6

2
4

-
0

0

 
d
i
v
e
r
s
a
s
 
d
a
s
 
e
s
p
e
c
i
f
i
c
a
d
a
s
,
 
s
u
j
e
i
t
a
r
ã
o
 
o
s
 
r
e
s
p
o
n
s
á
v
e
i
s
 
à
s
 
p
e
n
a
l
i
d
a
d
e
s
 
p
r
e
v
i
s
t
a
s
 
n
a
 
L
e
i

A
ç
o
:
 
C

A
-
5
0
A

 
/
 
6
0
B

F
c
k
 
=

 
3

0
 
M

P
a

M
ó
d
u
l
o
 
d
e
 
E

l
a
s
t
i
c
i
d
a
d
e
 
S

e
c
a
n
t
e
 
d
o
 
C

o
n
c
r
e
t
o
:
 
2
6
0
7
1
 
M

P
a

O
B

S
:

N
1

 
-
 
A

S
 
C

A
R

G
A

S
 
A

T
U

A
N

T
E

S
 
N

A
S

 
L

A
J
E

S
 
:

S
O

B
R

E
C

A
R

G
A

S
 
=

 
2

5
0

 
K

g
/
m

²
;

C
A

R
G

A
 
P

E
R

M
A

N
E

N
T

E
 
=

 
1

5
0

 
K

g
/
m

²
;

P
E

S
O

 
E

S
P

E
C

Í
F

I
C

O
 
D

A
S

 
A

L
V

E
N

A
R

I
A

S
 
=

 
1

3
0

0
 
K

g
/
m

³
.

N
2

 
-
 
A

 
T

A
X

A
 
A

D
M

I
S

S
Í
V

E
L

 
D

O
 
T

E
R

R
E

N
O

 
F

O
I
 
C

O
N

S
I
D

E
R

A
D

A
 
I
G

U
A

L
 
A

1
,
0

0
 
K

g
/
C

m
²
.

N
3

 
-
 
A

P
Ó

S
 
R

E
A

L
I
Z

A
Ç

Ã
O

 
D

O
S

 
E

N
S

A
I
O

S
 
D

E
 
S

O
N

D
A

G
E

M
 
E

N
T

R
A

R
 
E

M

C
O

N
T

A
T

O
 
C

O
M

 
O

 
C

A
L

C
U

L
I
S

T
A

.


